8

PROPRIETARY AND CONADENTAL

THEINFORMATION CONTAINED IN THISDRAWING IS THE SOLE PROPERTY OF
VECTORHEECTRONICS& TECHNOLOGY, INC. ANY REPRODUCTION IN PART
ORASA WHOLE WITHOUT THE WRITTEN PERMISSON OF VECTOR ELECTRONICS

& TECHNOLOGY, INC ISPROHIBITED.

~— 0340 ——————

0.315

M2.5 HEX NUT (ITEM # 4)
PLACEMENTOPENING —

0.150

i i
— ©0.100 THRU
0.1‘78
K 0.468
0.645
' / /
! ©®0.100 THRU —
C£ ~—————0.240 —=
—~ 0372 )=
+ A -
|
2X 0.095
0.372 0.030 /
! |
A -
SECTION A-A
~—— 0281 —————= O
CENTER L-BRACKET DETAIL
HD102, CM05 AND CMO05/100 PARTSLIST
ITEM NO DESCRIPTION PARTNO QTY REQ'D FOR P/N U'M
HD102|CMO05 |[CM05/100

1 CENTER L-BRACKET, NYLON, BLACK 94300001 2 2 100 EACH

2 SCREW, FLATHEAD, M2.5-0.45X8mm 95000003 2 - - EACH

3 SCREW, PAN HEAD, M2.5-0.45X10mm 88000106 2 2 100 EACH

4 HEX NUT, M2.5X0.45-6H 95000006 4 4 200 EACH

5 WASHER, SPLITLOCK, #3 W3-1# - 2 100 EACH

“
o ?®

(REQUIRES COUNTERSUNK
HOLESON FRONTPANEL)

ol

4X@D

s\\‘v\\\\‘n\m\;‘m\'\\b\

L-BRACKETKITEXPLODED VIEW

CENTER L-BRACKET

FOR6UOR9U PANELS——

REVISONS

Z0ONE

DESCRIPTION DATE APPROVED

ALL

03/14/16

I

¥
LA
G,

SN
K o

L-BRACKET KITASSEMBLED VIEW

UNLESS O THERWISE SPECIFIED:

TOLERANCES:
DEC XX
DEC XXX
DEC X.XXX
FRACTIONS
ANGLES

DIMBENSONSARE IN INCHES

+0.1
+0.03
+0.010
+0.050
+1°

DRAWN

11115 VANOWEN ST,

o VECTOR [

ELECTROMNICS & TECHMNOLOGY, INC. Www.vectorelect.com

NORTH HOLLYWOOD,

CHECKED

ENG APPR

MFG APPR

THIRD ANGLE PROJECTION

Q.A.

MATERAL

FNISH

COMMENTS:

L-BRACKETKIT

PLASIIC

SZE

D

DWG. NO.

HD102-CM05

A

REV

SCALE: 8:1|CAGE CODE : 82893 | SHEET 1 OF 1

1

A

HD102

D




